=

AIPNALS_4EALA

o
o

UEILA40_LZA4E Y

0.5

alphal3_4eX1X:cyclenum {run == 8246}

bbb b b b b e be
109150915.509160916.409170917.509180918.50919
cyclenum

deltad46_12X4eY:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

alpha4b_4ey4ay

8248

3247.5

8247

3246.5

8246

3245.5

8245

3244.5

8244

alphad6_4eY4aY:cyclenum {run == 8246}

[ARIFRETE FRRTI AR FRRTA RART] FRAR] ERTA ARATE AT}
109150915.509160916.909170917.509180918.50919
cyclenum

run:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

deltal3_lzx4ex

o
o

segment

25

15

05

deltal3_12X4eX:cyclenum {run == 8246}

[ATIRETRE FRATE AT AURR1 CRTTE FART] RRARI ARATY AT
109150915.509160916.809170917.509180918.50919
cyclenum

segment:cyclenum {run == 8246}

AL L |
v
H

e
- ......*...............;....... [

109150915.509160916.809170917.509180918.50919
cyclenum




USI_1A

usi_4ey

0.5

=

0.5

usl_1X:cyclenum {run == 8246}

109150915.509160916.409170917.509180918.50919
cyclenum

usl_4eY:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

usl_say

usl_12x

[

0.5

[

0.5

usl_4aY:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

usl_12X:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

usl_sex
=

05

usl_4eX:cyclenum {run == 8246}

8248

3247.5

8247

3246.5

8246

3245.5

8245

3244.5

8244

109150915.509160916.809170917.509180918.50919
cyclenum

run:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum




USI_L1A

usI_aey

0.5

=

0.5

usr_1X:cyclenum {run == 8246}

109150915.509160916.409170917.509180918.50919
cyclenum

usr_4eY:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

usr_say

usr_12x

[

0.5

[

0.5

usr_4aY:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

usr_12X:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

usr_aex
=

05

usr_4eX:cyclenum {run == 8246}

8248

3247.5

8247

3246.5

8246

3245.5

8245

3244.5

8244

109150915.509160916.809170917.509180918.50919
cyclenum

run:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum




usl_coill:cyclenum {run == 8246}

i
s [ : :
3 : .
2 S
5 - :
1 F : :
0.5f--tereet
of- ;
05 beeneE
P TP PR UL FOON PP YT I PO

109150915.509160916.409170917.509180918.50919
cyclenum

usl_coil6:cyclenum {run == 8246}

=

usi_culo

0.5

o
LI B B S B B B S B L B B B B

109150915.509160916.809170917.509180918.50919
cyclenum

usl_cols

usl_coll/

[

0.5

usl_coil3:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

usl_coil7:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

[

usl_coll4

05

usl_coil4:cyclenum {run == 8246}

8248

3247.5

8247

3246.5

8246

3245.5

8245

3244.5

8244

109150915.509160916.809170917.509180918.50919
cyclenum

run:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum




usr_coill:cyclenum {run == 8246}

=

usI_cont

0.5

| 1]

0.5

usI_coio

bbb b bevs b bie b
109150915.509160916.409170917.509180918.50919
cyclenum

usr_coil6:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

usr_colls

usr_coll/

usr_coil3:cyclenum {run == 8246}

1

0.5

[

[ARIFERTE RRTI AR FRRTE ARRTE RAARE PR AT
109150915.509160916.909170917.509180918.50919
cyclenum

usr_coil7:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

usr_coll4
=

05

8248

3247.5

8247

3246.5

8246

3245.5

8245

3244.5

8244

usr_coil4:cyclenum {run == 8246}

ol b b b b b e bes
109150915.509160916.809170917.509180918.50919
cyclenum

run:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum



1A_CONL

4EA_CUIL

=

0.5

=

1X_coill:cyclenum {run == 8246}

bbb b b b b e be
109150915.509160916.409170917.509180918.50919
cyclenum

4eX_coill:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

1X_coll3

4eXx_colls

1X_coil3:cyclenum {run == 8246}

-
T
H
H

7 SO SR S SN SN S 0 e 1

[ARIFRETE FRRTI AR FRRTA RART] FRAR] ERTA ARATE AT}
109150915.509160916.809170917.509180918.50919
cyclenum

4eX_coil3:cyclenum {run == 8246}

N
T
H
H

109150915.509160916.909170917.509180918.50919
cyclenum

1X_coll/

4eXx_coll/

[

05

[

1X_coil7:cyclenum {run == 8246}

[ATIRETRE FRATE AT AURR1 CRTTE FART] RRARI ARATY AT
109150915.509160916.809170917.509180918.50919
cyclenum

4eX_coil7:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum




yclenum {run == 8246}

4aY_coil7:c

yclenum {run == 8246}

4aY_coilé:c

yclenum {run == 8246}

4aY_coild:c

109150915.509160916.809170917.509180918.50919

J1100” ABY

91l0” AR

#1100 ARt

109150915.509160916.809170917.509180918.50919

109150915.509160916.809170917.509180918.50919

cyclenum

cyclenum

cyclenum

yclenum {run == 8246}

4eY_coil7:c

yclenum {run == 8246}

4eY_coilé:c

yclenum {run == 8246}

4eY_coild:c

109150915.509160916.809170917.509180918.50919

J1100” A8t

109150915.509160916.809170917.509180918.50919

91l0” A8t

109150915.509160916.809170917.509180918.50919

#1100 Lt

cyclenum

cyclenum

cyclenum



LZA_CunL

1ZA_CUNO

12X_coill:cyclenum {run == 8246}

=

0.5

1

0.5

bbb b b b b e be
109150915.509160916.409170917.509180918.50919
cyclenum

12X_coil6:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum

12X_coil3

12X_coi/

12X_coil3:cyclenum {run == 8246}

1

0.5

[

[ARIFRETE FRRTI AR FRRTA RART] FRAR] ERTA ARATE AT}
109150915.509160916.909170917.509180918.50919
cyclenum

12X_coil7:cyclenum {run == 8246}

109150915.509160916.909170917.509180918.50919
cyclenum

12X_coll4
=

05

8248

3247.5

8247

3246.5

8246

3245.5

8245

3244.5

8244

12X_coil4:cyclenum {run == 8246}

[ATIRETRE FRATE AT AURR1 CRTTE FART] RRARI ARATY AT
109150915.509160916.809170917.509180918.50919
cyclenum

run:cyclenum {run == 8246}

109150915.509160916.809170917.509180918.50919
cyclenum
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